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QUESTION 1

You have made changes to the design-time files of several calculation views in your DEV environment. These
calculation views belong to the same project. Before deploying your calculation views to a PROD environment, which
sequence of steps is required in the DEV environment?

A. Export the HDB module -> Export the project

B. Build the HDB module -> Build the project

C. Activate the project -> Build the HDB module

D. Build the project -> Build the HDB module

Correct Answer: D

QUESTION 2

Why does query performance decrease when the data volume of the delta storage is large?
Note: There are 2 correct answers to this question.

A. The data is unstructured.

B. The data is uncompressed.

C. The data is stored in the warm tier.

D. The data is NOT sorted.

Correct Answer: BD

QUESTION 3

You want to expose a hierarchy that is defined in a calculation view for access to SQL which of the following conditions
must be met?

Note: There are 2 correct answers .

A. The hierarchy must be a local hierarchy.

B. The hierarchy must be exposed by a calculation view of type CUBE with star join.
C. The hierarchy must be defined in a calculation view of type SQL ACCESSONLY.
D. The hierarchy must be a shared hierarchy.

Correct Answer: BD
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QUESTION 4

In which of the following scenarios would you benefit from enabling table partitioning in SAP HANA?

A. You have a large row store table that is consumed in a view with a variable on COUNTRY column.

B. You have a large column store table that is consumed in a view with a variable on COUNTRY column.
C. You have a dedicated table lo generate the lists of help values for an input parameter.

D. Your stacked model consists of multiple calculation views.

Correct Answer: B

QUESTION 5

Which of the following approaches improve the performance of joins in a cube calculation view? Note: There are 2
correct answers to this question.

A. Use an inner join.

B. Limit the number of joined columns.
C. Implement pruning rules.

D. Specify the join cardinality.

Correct Answer: BD
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